Int. J. Open Problems Compt. Math., Vol. 9, No. 2, June 2016 ISSN 1998-6262; Copyright ©ICSRS Publication, 2016 www.i-csrs.org

Solving Fractional Order Logistic

Equation by Approximate Analytical Methods

K. M. Saad¹, A. A. AL-Shomrani

Department of Mathematics, Faculty of Arts and Sciences Najran University, Saudi Arabia e-mail:khaledma_sd@hotmail.com

Mohamed S. Mohamed

Department of Mathematics, Faculty of Science Taif University, Saudi Arabia e-mail:m_s_mohamed2000@yahoo.com

X. J. Yang

Department of Mathematics and Mechanics China University of Mining and Technology, Xuzhou 221008, China e-mail:dyangxiaojun@163.com

Abstract

In this paper, we consider Adomian Decomposition Method (ADM), and Variational Iteration Method (VIM), Homotopy Analysis Method (HAM), Homotopy Analysis Transform Method (HATM) to solve the Fractional-Order Logistic Equation (FOLE). Comparisons between the approximate analytical solution and exact solution of FOLE are shown.

2010 Mathematics Subject Classication: 34-XX , 34Lxx ,34L30 Key words and phrases: Adomian Decomposition Method, Variational Iteration Method, Homotopy Analysis Method,Homotopy Analysis Transform Method, Fractional-Order Logistic Equation.

 $\mathbf{2}$

 $^{^1\}mathrm{On}$ leave from Taiz University , Yemen

²On leave from Al-Azhar University, Cairo, Egypt

1 Introduction

The logistic growth model for continuous version [18] is

$$\frac{dP(t)}{dt} = \mu P(t) \left(1 - \frac{P(t)}{K}\right),\tag{1.1}$$

where μ is the growth rate and K is the carrying capacity. Multiplying both side of (1.1) by $\frac{1}{K}$ and defining y = P/K the logistic growth model, becomes

$$\frac{dy(t)}{dt} = \mu y(t)(1 - y(t)).$$
(1.2)

The fractional order logistic equation (FOLE) has been discussed in the literature [3, 6, 7, 17]. A detailed study of existence, uniqueness, stability and approximate solutions of FOLE can be found in [6, 22, 24]. The paper is organized as follows. Section 2 contains the basic of fractional Calculus. Section 3 outlines the basic idea of the ADM, HAM, HATM and VIM. Section 4 deals with an application of the ADM, HAM, HATM and VIM to solve the fractional-order logistic growth model. and Section 5 contains the conclusions.

2 Fractional calculus

Well-known definitions of a fractional derivative of order $\alpha > 0$ have been given by Riemann, Liouville, Grunwald, Letnikov and Caputo [1, 4, 15, 20] and are based on generalized functions. The most commonly used definitions are those of Riemann and Liouville and Caputo. Here we give some basic definitions and properties of fractional calculus theory.

Definition 2.1. A real function f(t), t > 0, is said to be in the space C_{μ} , $\mu \in R$, if there exists a real number $p > \mu$ such that $f(t) = t^p f_1(t)$, where $f_1(t) \in C[0, \infty)$, and it is said to be in the space C_{μ}^m iff $f^m \in C_m$, $m \in N$.

Definition 2.2. The Riemann-Liouville fractional integral operator of order $\alpha \geq 0$ for a function $f \in C_{\mu}, \mu \geq -1$, is defined as

$$J_0^{\alpha} f(t) = \frac{1}{\Gamma(\alpha)} \int_0^t (t - \tau)^{\alpha - 1} f(\tau) d\tau, t > 0,$$

 $J^0 f(t) = f(t).$

It has the following properties. For $f \in C_{\mu}$, $\mu \geq -1$, $\alpha, \beta \geq 0$, and $\gamma > -1$,

1.
$$J^{\alpha}J^{\beta}f(t) = J^{\alpha+\beta}f(t),$$

- 2. $J^{\alpha}J^{\beta}f(t) = J^{\beta}J^{\alpha}f(t),$
- 3. $J^{\alpha}t^{\gamma} = \frac{\Gamma(\gamma+1)}{\Gamma(\alpha+\gamma+1)}t^{\alpha+\gamma}.$

Definition 2.3. The fractional derivative of f(t) in the Caputo sense is defined as

$$D^{\alpha}f(t) = J^{m-\alpha}D^{m}f(t) = \frac{1}{\Gamma(m-\alpha)} \int_{0}^{t} (t-\tau)^{m-\alpha-1}f^{(m)}(\tau) d\tau,$$

for $m-1 < \alpha \leq m, m \in \mathbb{N}, t > 0, f \in C^m_\mu, \mu \geq -1$, then

$$D^{\alpha}J^{\alpha}f(t) = f(t)$$

$$J^{\alpha}D^{\alpha}f(t) = f(t) - \sum_{k=0}^{m-1} f^k(0^+)\frac{t^k}{k!}$$

3 Fractional-Order Logistic Equation

In this section we apply the ADM, VIM, HAM and HATM to solve the fractional-order logistic equation. Consider

$$D^{\alpha}y(t) = \mu y(t)(1 - y(t)), \quad t > 0, \mu > 0, 0 < \alpha \le 1,$$
(3.3)

with the initial condition

$$y(0) = y_0. (3.4)$$

The exact solution of this equation for $\alpha = 1$, is

$$y(t) = \frac{y_0}{y_0 + (1 - y_0)e^{-\mu t}}.$$
(3.5)

3.1 Basic idea of ADM

We present the basic idea of the ADM [11] in this section by considering the following nonlinear ordinary differential equation

$$D^{\alpha}(y(t)) + R(y(t)) + N(y(t)) = g(t), \quad \alpha > 0$$
(3.6)

subject to the initial value

$$y^{(k)}(0) = c_k, \quad k = 0, 1, 2, \cdots, n-1, \quad n-1 < \alpha < n$$
 (3.7)

where R is the remaining linear operator, which might include other fractional derivatives operator $D^{\nu}(\nu < \alpha)$, N represent a nonlinear operator and g(t) is a given continuous function. Now, applying j^{α} to both the sides of (3.6), we get

$$y(t) = \sum_{k=0}^{[\alpha]} c_k \frac{t^k}{k!} + J^{\alpha} g(t) - J^{\alpha} R(y(t)) - J^{\alpha} N(y(t)).$$
(3.8)

We employ the Adomian decomposition method to solve equations (3.7)-(3.8). Let

$$y = \sum_{m=0}^{\infty} y_m, \tag{3.9}$$

and

$$N(y) = \sum_{m=0}^{\infty} A_m, \qquad (3.10)$$

where A_m are Adomin polynomials which depend upon y. In view of Equations (3.9)–(3.10), (3.8) takes the form

$$\sum_{m=0}^{\infty} y_m = \sum_{k=0}^{[\alpha]} c_k \frac{t^k}{k!} + J^{\alpha} g(t) - J^{\alpha} R(y(t)) - J^{\alpha} \sum_{m=0}^{\infty} A_m(y).$$
(3.11)

We set

$$y_0(t) = \sum_{k=0}^{[\alpha]} c_k \frac{t^k}{k!} + J^{\alpha} g(t); \qquad (3.12)$$

$$y_m = -J^{\alpha}R(y(t)) - J^{\alpha}\sum_{m=0}^{\infty} A_m(y), m = 0, 1, \cdots$$
 (3.13)

In order to determine the Adomian polynomials, we introduce a parameter λ and (3.10) becomes

$$N\left(\sum_{m=0}^{\infty} y_m \lambda^m\right) = \sum_{m=0}^{\infty} A_m \lambda^m.$$
(3.14)

Let $y_{\lambda}(t) = \sum_{m=0}^{\infty} y_m \lambda^m$. Then

$$A_m = \frac{1}{m!} \left[\frac{d^m}{d\lambda^m} N_\lambda(y) \right]_{\lambda=0}, \qquad (3.15)$$

where

$$N_{\lambda}(y) = N(y_{\lambda}). \tag{3.16}$$

In view of (3.15) and (3.16), we get

$$A_{m} = \frac{1}{m!} \frac{d^{m}}{d\lambda^{m}} [Ny_{\lambda}]_{\lambda=0}$$

$$= \frac{1}{m!} \frac{d^{m}}{d\lambda^{m}} \left[N(\sum_{m=0}^{\infty} y_{m}\lambda^{m}) \right]_{\lambda=0}$$

$$= \left[\frac{1}{m!} \frac{d^{m}}{d\lambda^{m}} N(\sum_{m=0}^{\infty} y_{m}\lambda^{m}) \right]_{\lambda=0}.$$
 (3.17)

Hence, (3.12)–(3.13) and (3.17) lead to the following recurrence relations

$$y_0(t) = \sum_{k=0}^{[\alpha]} c_k + J^{\alpha} g(t), \quad y_m(t) = -J^{\alpha} R(y(t)) - J^{\alpha} \left[\frac{1}{m!} \frac{d^m}{d\lambda^m} N(\sum_{m=0}^{\infty} y_m \lambda^m) \right]_{\substack{\lambda = 0\\(3.18)}}$$

We can approximate the solution y by the truncated series

$$\phi_k = \sum_{m=0}^{k-1} y_m, \quad lim_{k \to \infty} \phi_k = y(t).$$

3.2 Basic idea of HAM

The principles of the HAM and its applicability for various kinds of differential equations are given in [2, 8, 12, 13, 14, 23, 26, 27]. For convenience, we will present a review of the HAM [13]. To describe the basic idea of the standard HAM [5], we consider the nonlinear differential equation

$$\mathcal{N}[y(t)] = 0, \quad t \ge 0,$$
 (3.14)

where \mathcal{N} is nonlinear differential operator and y(t) is an unknown function. Liao [12] constructed the so-called zeroth-order deformation equation :

$$(1-q)\mathcal{L}[\phi(t;q) - y_0(t)] = qhH(t)\mathcal{N}[\phi(t;q)], \qquad (3.15)$$

where $q \in [0, 1]$ is an embedding parameter, $h \neq 0$ is an auxiliary parameter, $H(t) \neq 0$ is an auxiliary function, \mathcal{L} ia an auxiliary linear operator, $\phi(t;q)$ is an unknown function, and $y_0(t)$ is an initial guess for y(t) which satisfies the initial conditions. It should be emphasized that one has great freedom in choosing the initial guess $y_0(t)$, \mathcal{L} , h and H(t). Obviously, when q = 0 and q = 1, the following relations hold respectively

$$\phi(t;0) = y_0(t), \qquad \phi(t;1) = y_1(t).$$

Expanding $\phi(t;q)$ in Taylor series with respect to q, one has

$$\phi(t;q) = y_0(t) + \sum_{m=1}^{\infty} y_m(t)q^m, \qquad (3.16)$$

where

$$y_m(t) = \frac{1}{m!} \frac{\partial^m \phi(t;q)}{\partial q^m}|_{q=0}.$$
(3.17)

We assume that the auxiliary parameter h, the auxiliary function H(t), the initial approximation $y_0(t)$ and the auxiliary linear operator \mathcal{L} are selected such that the series (3.16) converges at q = 1, and one has

$$y(t) = y_0(t) + \sum_{m=1}^{\infty} y_m(t).$$
 (3.18)

We can deduced the governing equation from the zero order deformation equation by define the vector

$$\overrightarrow{y_n} = \{y_0(t), y_1(t), y_2(t), \dots, y_n(t)\}.$$
 (3.19)

Differentiating (3.15) *m*-times with respect to q, then setting q = 0 and dividing them by m!, we have, using (3.17), the so-called *m*th-order deformation equation

$$\mathcal{L}[y_m(t) - \chi_m y_{m-1}(t)] = \hbar H(t) R_m(\overrightarrow{y}_{m-1}(t)), \quad m = 1, 2, 3, ..., n, \quad (3.20)$$

where

$$R_m(\overrightarrow{y}_{m-1}) = \frac{1}{(m-1)!} \frac{\partial^{m-1} \mathcal{N}[\phi(t;q)]}{\partial q^{m-1}}|_{q=0}, \qquad (3.21)$$

and

$$\chi_m = \begin{cases} 0, & m \le 1\\ 1, & m > 1 \end{cases}$$
(3.22)

3.3 Basic idea of VIM

To illustrate the basic concept of the variational iteration method, we consider the following general nonlinear equation

$$D^{\alpha}y(t) + Ny(t) = g(t), \qquad (3.33)$$

According to the variational iteration method [9, 10, 25], we can construct a correction functional in the form

$$y_{m+1}(t) = y_0(t) + \int_0^t \lambda(s) \left(D^{\alpha}(y_m(s) + N(\tilde{y}_m(s)) - g(s)) \, ds, \right)$$
(3.34)

where $y_0(x)$ is an initial approximation with possible unknowns, $\lambda(s)$ is a Lagrange multiplier which can be identified optimally via variational theory, the subscript m denotes the m-th approximation, and \tilde{y}_m is considered as a restricted variation [10, 9], i.e. $\delta \tilde{y}_m = 0$. It is shown that this method is very effective and easy for linear problems as its exact solution can be obtained by only one iteration because $\lambda(s)$ can be exactly identified. To solve (3.33) by the VIM, we must first evaluate $\lambda(s)$ that will be identified optimally via integration by parts. Then the successive approximation $y_m(t), m = 0, 1, \cdots$, of the solution y(t) will be readily obtained upon using $\lambda(s)$ and $y_0(t)$. The zeroth approximation y_0 may be any function that satisfies at least the initial and boundary conditions with $\lambda(s)$ determined. Then successive approximations $y_m(t), m = 0, 1, 2, \cdots$ follows immediately, and consequently the exact solution may be arrived since: $y = \lim_{m \to \infty} y_m$.

3.4 Basic idea of HATM

In this section, we introduce an approximate analytical method, namely the HATM, which is a combination of the HAM and the LDM [28, 29, 30, 31, 32]. This scheme is simple to apply to linear and nonlinear fractional differential equations and requires less computational effort compared with other exiting methods.

3.4.1 Laplace Transform

Let f(t) be defined for $0 \le t < \infty$. Then, when the improper integral exists, the Laplace transform F(s) of f(t), written symbolically as $F(s) = \mathcal{L} \{f(t)\}$, is defined by

$$F(s) = \int_0^\infty e^{-st} f(t) dt.$$

Lemma If $m-1 < \alpha \leq m, m \in \mathbb{N}$, then the Laplace transform of the fractional derivative $D^{\alpha}f(t)$ is

$$\mathcal{L}(D^{\alpha}f(t)) = s^{\alpha}F(s) - \sum_{k=0}^{m-1} f^{(k)}(0^{+})s^{\alpha-k-1}, \quad t > 0,$$
(3.35)

where F(s) is the Laplace transform of f(t).

Apply the Laplace transform to both sides of Equation (3.6) we obtain

$$\mathcal{L}(D^{\alpha}(t)) + \mathcal{L}(Ry(t) + Ny(t)) = \mathcal{L}g(t).$$
(3.36)

Using (3.35) we then have

$$\mathcal{L}y(t) - \frac{1}{s^{\alpha}} \sum_{i=0}^{m-1} y^{(i)}(0) s^{\alpha-i-1} - \frac{1}{s^{\alpha}} \left(\mathcal{L} \left(Ry(t) + \mathcal{N}y(t) \right) - \mathcal{L}g(t) \right) = 0.$$
(3.37)

We define the nonlinear operator

$$\mathcal{N}[\phi(t;q)] = \mathcal{L}[\phi(t;q)] - \frac{1}{s^{\alpha}} \sum_{i=0}^{m-1} \phi(t;q)^{(i)}(0) s^{\alpha-i-1} - \frac{1}{s^{\alpha}} \left(\mathcal{L}\left(R\phi(t;q) + \mathcal{N}\phi(t;q) \right) - \mathcal{L}g(t) \right)$$
(3.38)

In similar procedure with HAM, we can obtain the m-th-order deformation equation.

4 Applications

In this section we apply the ADM, VIM, HAM and HATM to solve FOLE. Consider

$$D^{\alpha}y(t) = \mu y(t)(1 - y(t)), \quad t > 0, \mu > 0, 0 < \alpha \le 1,$$
(4.1)

with the initial condition

$$y(0) = y_0. (4.2)$$

The exact solution of this equation for $\alpha = 1$, is

$$y(t) = \frac{y_0}{y_0 + (1 - y_0)e^{-\mu t}}.$$
(4.3)

4.1 The ADM for FOLE

In this section, we apply the ADM to solve (7.24). According to the Adomian decomposition

$$y(t) = \sum_{i=0}^{m-1} y^{(i)} \frac{t^i}{i!} + J^{\alpha} \mu(y - y^2), \qquad (4.4)$$

$$y_0(t) = \sum_{i=0}^{m-1} y^{(i)} \frac{t^i}{i!},$$
(4.5)

$$y_{i+1}(t) = J^{\alpha} \mu(y - y^2).$$
 (4.6)

The Adomian polynomials are as follows $A_0 = \mu(y_0 - y_0^2), \quad A_1 = \mu(y_1 - 2y_0y_1), \quad A_2 = \frac{1}{2}\mu(-2y_1^2 + 2y_2 - 4y_0y_2), \quad \cdots$ Now if we take $y_0(t) = y(0) = y_0$, we obtain

$$y_1(t) = -(y_0^2 - y_0)\mu \frac{t^{\alpha}}{\Gamma(1+\alpha)},$$
(4.7)

$$y_2(t) = \left(2y_0^3 - 3y_0^2 + y_0\right)\mu^2 \frac{t^{2\alpha}}{\Gamma(2\alpha + 1)},\tag{4.8}$$

4.2 The HAM for FOLE

In this section, we apply the HAM to solve (7.24). According to the explanations in section 3.2 we have $y_0(t) = y_0$ and have the m-th-order deformation

$$y_m(t) = \chi_m y_{m-1}(t) + \hbar J^{\alpha} [R_m(\vec{y}_{m-1}(t))], \qquad (4.9)$$

where

$$R_m(\overrightarrow{y}_{m-1}(t)) = D^{\alpha} y_{m-1}(t) - \mu y_{m-1}(t) + \mu \sum_{i=0}^{m-1} y_i(t) \ y_{m-1-i}(t).$$
(4.10)

The first two terms of the HAM series solution take following form:-

$$y_1(t) = \mu h(y_0 - y_0^2) \frac{t^{\alpha}}{\Gamma(\alpha + 1)},$$
(4.11)

and

$$y_2(t) = (1+h)y_1 + \mu^2 h^2 (y_0^2 - y_0)(2y_0 - 1) \frac{t^{2\alpha}}{\Gamma(2\alpha + 1)}.$$
 (4.12)

Hence, according to equation (3.18), the approximate solution is:

$$y(t) = y_0(t) + y_1(t) + y_2(t) + \cdots$$
 (4.13)

The series (4.13) contains the auxiliary parameter h. The result (4.13) is the same approximate solution is obtained in [19, 24]. Similar to [21] we can obtain the value of h so that the solution series is convergent for -2 < h < 0. The obtimal value of h is -0.834348 [7].

4.3 The VIM for FOLE

In this section, we apply the VIM to solve (7.24). According to the variational iteration method, formula (3.34) for (7.24) can be expressed in the following form:

$$y_m(t) = y_{m-1}(t) + J^{\alpha}\lambda(s) \left(D^{\alpha}y_{m-1}(s) + \mu y_{m-1}(s) - \mu y_{m-1}^2(s) \right).$$
(4.14)

We can find the value of $\lambda(s)$ as in [9, 10, 16]. This value is $\lambda(s) = -1$. Substituting this value of $\lambda(s)$ into (4.14), we obtain

$$y_m(t) = y_{m-1}(t) - J^{\alpha} \left(D^{\alpha} y_{m-1}(s) + \mu y_{m-1}(s) - \mu y_{m-1}^2(s) \right).$$
(4.15)

Finally the exact solution is obtained by

$$y(t) = \lim_{m \to \infty} y_m(t). \tag{4.16}$$

With the initial approximation $y_0(t) = y_0$, and using the iteration (4.15), we can directly obtain the components of the solution. The first two components of the solution y(t) by using (4.15) of the fractional-order logistic equation are given by

$$y_{2}(t) = y_{1}(t) + (6 + \mu t (3 + 2y_{0}(-3 + (y_{0} - 1)\mu t))\Gamma(2 - \alpha)) \frac{y_{0}^{2} - y_{0}}{6\Gamma(2 - \alpha)}t + \frac{y_{0}^{2} - y_{0}}{\Gamma(2 - \alpha)(\alpha - 2)}\mu t^{2-\alpha},$$
(4.17)

4.4 The HATM for FOLE

In this section, we apply the HATM to solve (7.24). The Laplace transform to both sides of equation (7.24) is

÷

$$\mathcal{L}\{y(t)\} - \frac{1}{s}y(0) + \frac{1}{s^{\alpha}}\mathcal{L}\{\mu y(t)\} - \frac{1}{s^{\alpha}}\mathcal{L}\{\mu y^{2}(t)\} = 0.$$
(4.19)

So as the procedure in section 3.4 we get

$$y_m(t) = \chi_m y_{m-1}(t) + h \mathcal{L}^{-1} \{ R_m(\overrightarrow{y}_{m-1}(t)) \}, \quad m = 1, 2, 3, ..., n,$$
(4.20)

where

$$R_{m}(\overrightarrow{y}_{m-1}(t)) = \mathcal{L}\{y_{m-1}(t)\} - \frac{1}{s}(1-\chi_{m})y(0) + \frac{\mu}{s^{\alpha}}\mathcal{L}\{y_{m-1}(t)\} - \frac{\mu}{s^{\alpha}}\mathcal{L}\{\sum_{i=0}^{m-1} y_{i}(t)y_{m-1-i}(t)\}$$
(4.21)

Consequently, the first tow terms of the HATM series approximate solution with $y_0(t) = y_0$ are

$$y_1(t) = \frac{h\mu(-y_0 + y_0^2)}{\Gamma(1+\alpha)} t^{\alpha},$$
(4.22)

$$y_2(t) = y_1(t) \left(1 + h \left(1 + \frac{\mu(2y_0 - 1)\Gamma(1 + \alpha)}{\Gamma(1 + 2\alpha)} t^{\alpha} \right) \right).$$
(4.23)

5 A Comparison Results

Now through the plotting the previous approximate analytical solutions with the exact solution we can compare which the solution is better. Of course We've deliberately to keep an equal number of approximations in the four methods. We use only the 2-term approximate solution. But in the VIM we obtained the approximate analytical solution by $(y(t) = y_2(t))$. Figure 1, shows that the error between the exact solution y(t) of (7.24) and the approximate analytic solution using ADM, HAM, VIM and HATM for $\alpha = 1, \mu = y_0 = 0.5, h = -0.834348$. From this figure we can conclude that solution obtained by VIM is very close to the exact solution than the solutions obtained by ADM, HAM and HATM.

6 Conclusion

In this paper ADM, VIM, HAM and HATM methods have used to solve FOLE. The efficiency and accuracy of these methods is obvious from the graph, when compared with the exact solution. Comparisons of ADM, VIM, HAM and HATM methods with exact solution have been shown by graphs which show the efficiency of the methods and we find that VIM results better than ADM, HAM and HATM.

7 Open Problem

As future work, we will extend this work to find the analytic approximation for the Fisher equation. i.e.

$$\frac{\partial^{\alpha} y}{\partial t^{\alpha}} = \frac{\partial^{\beta} y}{\partial x^{\beta}} + \mu y(1-y), (x,t) \in (-\infty,\infty) \times (0,\infty), \tag{7.24}$$

where y is a function of x and t, and $0 < \alpha \le 1, 0 < \beta \le 2$.

8 Acknowledgments

The first and second author thank Prof. Noel Frederick Smyth School of Mathematics, University of Edinburgh for stimulating discussions during the preparation of this article.

References

- A.A. Kilbas, H.M. Srivastava, and J.J. Trujillo, *Theory and Applications of Fractional Differential Equations*, North-Holland Mathematical Studies, 204, Elsevier Sci. B.V., Amsterdam, (2006).
- S. Abbasbandy, Homotopy analysis method for heat radiation equations, Int Commun Heat Mass Transf, 34(3) (2007), 380–387.

- [3] S. Bhalekar and V. Daftardar-Gejji, Solving Fractional-Order Logistic Equation Using a New Iterative Method, International Journal of Differential Equations, 2012 (2012), Article ID 975829, 12 pages, (2012).
- [4] M. Caputo, Linear models of dissipation whose q is almost frequency independent, Geophysical Journal, 13 (1967), 529–539.
- [5] A. El-Ajou, Z. Odibat, S. Momani and A. Alawneh, Construction of Analytical Solutions to Fractional Differential Equations Using Homotopy Analysis Method, IAENG International Journal of Applied Mathematics, 40:2 (2010), 43-51.
- [6] A.M.A. El-Sayed, E.M. El-Mesiry and H.A.A. El-Saka, On the fractionalorder logistic equation with two different delays, Zeitschrift fur Naturforschung, 66a (2011), 223–227.
- [7] K. A. Gepreel and M. S. Mohamed, An optimal homotopy analysis method nonlinear fractional differential equation, Journal of Advanced Research in Dynamical and Control Systems, 6 (2014), 1–10.
- [8] T. Hayat, M. Khan and S. Asghar, Homotopy analysis of MHD flows of an oldroyd 8-constant fluid, Acta Mech., 168 (2004), 213–232.
- [9] J. H. He, Variational iteration method a kind of non-linear analytical technique: some examples, International Journal of Non-Linear Mechanics, 34 (1999), 699-708.
- [10] J. H. He, Some asymptotic methods for strongly nonlinear equations, Int. J. Modern Phys., B 20(10) (2006), 1141–1199.
- [11] H. Jafari and V. Daftardar-Gejji, Solving a system of nonlinear fractional differential equations using Adomian decomposition, Int. J. Modern Phys., 196 (2006), 644–651.
- [12] S. J. Liao, The proposed homotopy analysis technique for the solution of nonlinear problems, Ph.D. thesis, Shanghai Jiao Tong University, (1992).
- [13] S. J. Liao, Beyond perturbation: introduction to the homotopy analysis method, Boca Raton: Chapman and Hall/CRC Press, (2003).
- S. J. Liao, On the homotopy analysis method for nonlinear problems, Appl. Math. Comput., 147 (2004),499–513.
- [15] K. S. Miller and B. Ross, An Introduction to the Fractional Calculus and Fractional Differential Equations, Wiley and Sons, New York, (1993).

- [16] H. K. Mishra, A Comparative Study of Variational Iteration Method and He-Laplace Method, Applied Mathematics, 3 (2012),1193–1201.
- [17] S. Momani and R. Qaralleh, Numerical approximations and Pade approximates for a fractional population growth model, Chin Phys B, 31 (9) (2007),1907–1914.
- [18] J. D. Murray, *Mathefmatical Biology I: An Introduction*, volume I. Springer-Verlag, 3rd edition (2003).
- [19] N. H. Sweilam, M. M. Khader, and A. M. S. Mahdy, Numerical Studies for Fractional-Order Logistic Differential Equation with two different delays, Journal of Applied Mathematics, Article ID 764894, 14 pages, doi: 10.1155/2012/764894, (2012).
- [20] I. Podlubny, *Fractional Differential Equations*, Academic Press, San Diego, (1999).
- [21] K. M. Saad and A. A. AL-Shomrani, An application of homotopy analysis transform method for Riccati differential equation of fractional order, Journal of Fractional Calculus and Applications, 7 (1) (2016),61–72.
- [22] M. Saad and H. Ghany, Analytic approximations for fractional-order hyperchaotic system, Journal of Fractional Calculus and Applications, 3 (2011),1–12.
- [23] Q. Sun, Solving the Klein-Gordon equation by means of the homotopy analysis method, Appl. Math. and Comput., 169 (2005),355–365.
- [24] N.H. Sweilam, M.M. Khader and A.M.S. Mahdy, Numerical studies for solving fractional order logistic equation, International Journal of Pure and Applied Mathematics, 78(8) (2012),1199–1210.
- [25] L. Xu, J. H. He and Y. Liu, *Electrospun nanoporous spheres with Chinese drug*, Int. J. Nonlinear Sci. Numer. Simul., 8(2) (2007), 199–202.
- [26] Y. Wu, C. Wang and S. J. Liao, Solving the one-loop soliton solution of the Vakhnenko equation by means of the homotopy analysis method, Chaos, Solitons and Fractals, 23 (2005), 1733–1740.
- [27] M. Yamashita, K. Yabushita and K. Tsuboi, An analytic solution of projectile motion with the quadratic resistance law using the homotopy analysis method, J Phys A, 40 (2007), 8403–8416.
- [28] J. Singh and D. Kumar, Homotopy perturbation algorithm using Laplace transform for gas dynamics equation, Journal of the Applied Mathematics, Statistics and Informatics. 8(1) 55-61 (2012)

- [29] J. Singh, D. Kumar and S. Rathore, Application of homotopy perturbation transform method for solving linear and nonlinear Klein-Gordon equations, Journal of Information and Computing Science. 7 (2) 131-139 (2012).
- [30] M. S. Mohamed, F. Al-Malki and M. Al-humyani. Homotopy Analysis Transform Method for Time Space Fractional Gas Dynamics Equation, Gen. Math. Notes. 24(1) 1-16 (2014).
- [31] A.S. Arife and S.K. Vanani and F. Soleyman . *The Laplace homotopy* analysis method for solving a general fractional diffusion equation arising in nano-hydrodynamics, J Comput Theor Nanosci. (10) 1-4 (2012).
- [32] Y. Khan and N. Faraz and S. Kumar and A.A. Yildirim. A coupling method of homotopy method and Laplace transform for fractional modells, UPB Sci Bull Ser A Appl Math Phys. 74(1) 57-68 (2012).





Figure 1: Comparison of the approximate analytical solutions obtained by ADM, HAM, VIM, and HATM for the (7.24)at $\alpha = 1$, $\mu = y_0 = 0.5$, h = -0.834348